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Additional file 1: Figure S1 - Calculating chromosome quotients 

Chromosome quotients are calculated by aligning female and male sequence 
data to reference sequences using the ultra-fast short read aligner bowtie. For a 
read to be aligned to a reference sequence, it must have zero mismatches over 
the entire length of the read. Once the male and female data have been aligned 
to the reference sequences, the number of alignments from male and female 
data to each reference sequence is counted. Chromosome quotients are then 
calculated by dividing the number of female alignments by the number of male 
alignments. If known autosomal sequences are present, all the chromosome 
quotients can be normalized the the median chromosome quotient of the 
known autosomal sequences.


